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Practice Worksheet

Vectors and Parametric Equations

Write a vector equation of the line that passes through point P and is paraﬂe.' o a.
Then write parametric equations for the line.
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Write the equatron of each line in parametric form. -
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Write an equation in s!ope-mtercept form of the line with the g:ven parametnc
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{OMNponerUsing Parametric Equations to Model Motion ( gozihon

v, & © For e‘_ach exercise, e it Grtie-aBject AOodhon )
0 a) write parameiric equations to represent the path of the objec )
) write.P o . g e Nextiead

- b) graph the path, and
W l\,‘ be ¢) solve.
8{_\1 on Round your answers to the nearest hundredih.

1. A rock is tossed at an initial velocity of 50 m/s at an angle of 8° with the ground
SB'; Q'\ . After 0.8 seconds, how far has the rock traveled horizontally and vertically?
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2. A toy rocket is launched at an initial velocity of 80 ft/s at an angle of 80° with the
horizontal. How long will it take for the rocket to be 10 feet horizontally from its
starting point. What will its vertical distance be at that point? 2
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3. A bullet is shot at a target 200 feet away. If the bullet is shot at a height of 5 feet,
“with an initial velocity of 150 ft/s, and at an angle of 10° with the horizontal,
when will it reach the target, and what will be the height where it hits?
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4. A disk is thrown from a helght of 5 meters at an initial velocity of 65 m/s at an
angle of 10° with the ground. After 0.5 second, how far has the disk traveled
horizontally and vertically?
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